Maths yr3/4
Angles
Go to the following web page: https://www.bbc.co.uk/bitesize/articles/z2gcsk7
Watch the video and try the activities below.

Label these angles
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Now try these:
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Answers
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Are any of the angles below obtuse?
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Complete these sentences:

An angle less than a right angle is called.

an angle

An angle greater than a right angle, but less than

180", i called an. angle

Label each of these angles as obtuse, acute or a right
angle. In your book, draw and label your own angle.
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1) In your book, draw a shape with
two obtuse and two acute angles

2) Nikolas and Carla describe
this shape differently;

“This shape has four

right angles. Two of
them are curved.

Nikolas

This shape has two

right angles.

Carla
Who do you agree with? Explain why.
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1) Are the angles between the hour and
minute hands on these clocks obtuse,
acute o right angles?
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2) Place these letters correctly in the Venn diagram:

K E M T C Y

Has at least one  Has at least one
acute angle obtuse angle
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1) Complete these sentences:
An angle less than a right angle i called an acute angle.

An angle greater than a right angle, but less than 180", is called an obtuse angle.

2)  Label each of these angles as obtuse, acute or a right angle. Draw your own angle in the empty box and label it

AN

acute ight angle

Multiple answers possible.
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Angle A is a right angle.
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Which angles are acute angles?

Look carefully at the other angles and compare them to the right angle. Which
angles are smaller?

« B and D are acute angles because they’re clearly smaller than a right angle.

« That means angle C is an obtuse angle because it is larger than angle A.




